S1[0 AIREASA —T > ERKE

T
&%
53 =1

[El{&D5ER]

202443A23H(1)

M B
& 5 Al hTRAESE

AIREHE
AR RS
KISt vrYs



BIEARERSA — T VERR R (RZEUT_FEHR)

B SHMEE3H23H (L)
A AR HRAERE

FE N TEFOL FE)—2 [Af)

1.2 a—k 1 2 3 4 | mE | e
0 0 0
~ X O 0
2 ElH A 0-3 3-0 3-0 5 2
o g it X X O
3 | ®mErR—wrs7B | X | X O | 4 3
) X X X
4 BIRITC R R R 3 4
(HEIERE]  ATF—A0HE 1-4 2-3 1-3 2-4 3—4 1-2
RZEUTEFDIE FEV—2 [Bii)
3.4 a—Fh 1 2 3 4 | mE | oEm
0 0 0
: SRA 30 | 30 | 3% 6 1
= X X X
2 MHHEFEF 0-3 0-3 0-3 3 4
- X O 0
3 4 B 5L ol s | 2
X O X
4 FINE T Sl S 4 3
(REIEE]  ATF—ADHE 1-4 2-3 1-3 2—4 3—4 1-2
REZEUTEFDIH FEV—2 [CHi])
5.6 1—Fh ] 2 3 4 | mE | e
- O O O
1 BFh A AN VG IS 6 1
x O O
2 SREB 0-3 372 | 371 5 2
x X O
. X X %

(FHEIEF] 4F—LbDFE 1-4 2—3 1-3 2—4 3—-4 1-2




D TEFOH FE)—2 (DI N TREDR, AT ZEME LT

7.8 a—h / 2 3 | 4 | @& | Ew
o o O O
1 RKBAR—YIITA 370 370 320 6 1
ey — X O O
2 =8Ya=7 0-3 3<1 | 341 5 4
2 X X X
3 IE[J-IEFtB 0_3 1_3 0_3 3 3
- X X O
4 S84 C 0-3 123 370 4 2
(FAAIERF) A4F—LD5E 1-4 2—3 1-3 2—4 3—4 1-2
FEAUTEFOE +:E)—7 [Ef)
9,10 a—+h 1 2 3 4 =3 AL
O O O
1 FINE I 5o | 30 | 3% 6 1
o A g X X O
Zs I X O O
3 MEHFFIVIR 0-3 370 370 5 2
= X X X
4 215 C R B 3 4

(GHEIEF] 4F—LDGE 1-4 2—3 1-3 2—4 3—4 1-2




BIEEREMESA — TV ERR S (RZEDT_FEE)

HE SMEE3IH23H (L)
G BT THREHEE

hZEUTHEFOR REBEI—FAVE  XREIZLAT—A

1| AL i e 3
0
2 | ciom 25 B 3
3 | B2 284 B - 0 2
4 | ESK FINE I 0
5 | DMK |FBAR—V25TA . 3
6 | culg: 28h A 3 1
7 | Ao Bl A -
8 | Do EEt C 3
- 0 3
9 | EME2f | mmEIvo 1
3
10 | Bim1Az 25 A =




BIEEREMESA — TV ERR S (RZEDT_FEE)

=L
SR

SM6E3H23H(L)
AR HREHE

RE2EYDTEFOE avVl—yarvb—FAVd XEBEIF2F—A

1 | AM3fL | REAR—YZ5TB
2 | CHi4hr Y=y

3 | BfH4fL HHRFHBEF

4 | Ef3fL B 22 AR

5 | D#3fz =il$ B

6 | CH3fL WESE

7 | AR4fL AIRITC

8 | DiH4fiL =Z8Vazy

9 | EfH4fL =ik C

10 | B#H3f: FINE II

— Z=BYa=7




BIEFRERARA — TV ERRE (PZEDT_FHER)

B SM6HFE3H230 (L)
B AR TRIKERE

HEELDTLFOH FEV—2 [Af]

11,12 a—h ] 2 3 4 B Bz
= X O O
1 £I5 A 5 10 220 5 1 4/3
O x O
2 FINE 2 s 10 5 2 5/4
—mey X O
3 =BY2-7B s 400 400 5 3 3/5
i X X X
4 EEyh s s s 4 4
(HEIER] 4F—ADEE 1-4 2—3 1-3 2—4 3—4 1-2
AN FLFOH TRY—7 (B
13,14 a—} ] 2 3 4 mm gz
— > — O O O
1 =BYa=7 A 3-0 3-0 3-0 6 1
ey X X O
2 ARG AR 0-3 53 379 4 3 5/5
x O x
3 Ly Py s 37 o3 4 4 3/5
I==¢ X X O
4 £15 B s o5 20 4 2 5/3
(HAIERE] 4F—A0EE 1-4 2—3 1-3 2—4 3—4 1-2
FZEPITEZFOH RN —TAVN XFTREIZL4F—A
1| Amf BIF A 3 5
2 | Biff4fL . M 0 0
3 | AfE3f | =ZBYa-7B 3
4 | BSE2AE 2I5 B - 1
=EYVa=7A
5 | A2 FINE 3 .
6 | B3 SRR 2 5
7 | Asmag #5750 0 3
3
8 | Bz | =ZBva=7yA -




